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Which of the following speed time graphs is not
possible ?

\speed speed

(1) (2)
- t -
time time

\speed \speed

(3) (4)
- t t
time time

A bus starts moving with acceleration 2 m/s2.
A cyclist 84 m behind the bus starts
simultaneously towards the bus at 20 m/s. After
what time will he be able to overtake the bus ?

(1) 6sec. (2) 14 sec. (3) 8sec. (4) 12 sec.

A field gun of mass 2 x 103 kg fires a shell of
mass 20 kg with a velocity of 200 m/s. Calculate
the velocity of the recoil of the gun.

(1) 1m/s (2)2m/s (3) 0.5m/s (4) 4 m/s

What force is needed to speed up a frictionless

80 kg cart from 5 metres per second to 7.5 metres

per seocnd in 4 seconds ?

() 50N (2) 60N  (3) 43N (4) 74N

The time period of an earth satellite in circular

orbit is independent of :

(1) both the mass of the satellite and radius of
the orbit

(2) radius of its orbit

(3) the mass of the satellite

(4) neither the mass of the satellite nor the
radius of its orbit.

For a satellite moving in an orbit around the
earth, the ratio of kinetic energy to potential
energy is :

L

1
(1) V2 @ 7 (3) 2 4 5
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frefafed § SH-91 T-999 TTF S99 T8 8 2

T T
" A . &
t t
gHq SR
\ TR s
i AN
t t
W W

T a9 2 MoA2 & ©R0 ¥ Tl URY F 7 | TH
AEfhel TR 99 9 84 o Wa TMAR 20 Ho/To i T I
TG HI AR e YRH H € | e T & 9% 98 oY
I YR FHL M ?

(1) 6% 2) 14  (3) 8% (4) 12T
2 x 103 59 H Th &F T5h 200 Ho/Te w1 A G
20 TRt FoEM ST Tl Bied § | <% & WiAad i Tfq
T TUAT F |

(1) 1 ¥/ (2) 2 Hle/Fe (3) 0.5 Ho/To (4) 4 Hio/To

4 G ¥ 5 HiX gfd Thve W 7.5 HieX ufd whve d% Hi
TEUEA 80 R aret el # g < & fow foew 9w 6
frEgehal el © 2

() 50N () 60N (3) 43N  (4) 74N
1T el W gedl & IUE I Hiel WA @l © -
(1) STWE & FoAuH 3R Hel 1 e <A o

(2) SHeh! e wT B 9

(3) STE & TAE |

(4) 7 A SWE & FHUH IR T & ThH Fal K B 9

geat & HEll & IR AR THA a1 ITWE & e wfast i
afR feerfast it 1 eu@ € -

1 1
(1) V2 @ 7 (3) 2 4 5
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Ifthe K.E. of a body is increased by 800% , by what
percentage will its momentum increase?

(1) 400% (2) 300% (3) 150%  (4) 200%

If 30,000 joules of work is done in pumping water
up to a height of 15 meters, how much water is
pumped ? (g =10 m/s?)

(1) 250 kg (2) 200 kg (3) 160 kg
Which is not a unit of energy :
(1) Watt second (2) Kilo watt hour
(3) Newton second?  (4) Joule

Velocity of sound measured in hydrogen and
oxygen gas at a given temperature will be in the
ratio :

(1)4:1 2)1:4 B)16:1 @4 1:16
Voice of a friend is recognized by its :

(1) pitch (2) quality

(3) intensity (4) velocity

(4) 400 kg

A source of frequency 600 Hz emits waves of
wavelength 0.3 m. How long does it take the
waves to travel 720 m ?

(1) 2sec. (2) Ssec. (3) 6sec. (4) 4 sec.
When a spherical convex lens made up of glass

4
(u = 1.5) is immersed in water (H = Ej its focal

length of glass-water arrangement.
(1) increases (2) decreases

(3) remains unchanged (4) can'’t say

The lateral displacement of an incident ray
passing out of a rectangular glass slab, for the
same angle of incidence :

(1) is directly proportional to the thickness of the
glass slab

(2) is inversely proportional to the thickness of
the glass slab

(3) is independent of the thickness of the glass
slab

(4) none of the above options is correct
A fuse wire repeatedly gets burnt when used with

07.

08.

09.

10.
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I ferdit g 1 TIfast ot 800% T SIGTN Sl &, ot Skt
g ferae wfaera & s@m ?

(1) 400% (2) 300% (3) 150%  (4) 200%
g 15 e HT 9K d% T B T HHA F 30,000 A
% foran Sn ®, feraen ot w9 feman smam?

(g=10 m/sQ)

(1) 250 kg (2) 200kg (3) 160 kg (4) 400 kg
Sl H THE BE T T -

(1) A Hehve (2) fwatt are Her

(3) = Yehve? (4) St

U TT 919 W EEG A SR S o WY MY et & o
1 ST BN -

(1)4:1 (2 1:4 (3 16:1
T & AENS I e STl €, THRT
(1) frar 30 (2) T 31 (3) o 8N (4) 3 B

600 Hz e &1 T Hid 0.3 o 1 qiresd Saa=t il
21 a1 ® 720 Ho g T HA H foha gwm @t ?

(1) 2%

4) 1:16

(2) 5% (3) 6T (4) 4 T

m@@@aﬁﬁaﬁam@muﬂsmw[ng
H g S § o FE-uE oewen St ek gl -

(1) =t & (2) Tt @

(3) HIE SR &l Bl B (4) D hel TEl S Fehal &l

Teh SAAIHR T Toid | TToid g0 fordt syafaa fenor o6
uTed feeeTo, SH WHM U HI0 % fog € -

(1) ToTE TE I HEE & FEE © |

(2) T TIE HT HISE ® IhHAd € |

(3) T i W HIZE W A € |

(4) Sudw I foehed Tl 7 |

Teh T AR IR-9R STl ST €, S 38 370 gie | Suant

a good heater. It is advised to use a fuse wire of foRaT ST 1 S TR N ITE FH F FAE
' ST
(1) more length (2) less radius
(3) less length (4) more radius (1) tferew oraE (2) %0 B &
(3) ®H TEE & (4) 1fess o &
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Two air conditioners of 2000 W, a fan of 300 W, a
bulb of 60 W and a computer offering 40 W are
used in a house hold using 220V. The power
rating of the fuse to be used in this case is :

(1) 10A (2)32A (3) 20A (4) 16 A

A 80 watt electric lamp gives off energy in the
form of light at a rate of 7.2 joule per second.
What percentage of energy does the lamp
transform into light energy ?

(1) 45% (2)64% (3) 128% (4) Y%

If an electron revolves in the path of radius of
2 x 10710 m at a frequency of 2.5 x 1017 cycles s71,
then find the electric current in the circle.

(1) 20mA (2) 0.6 mA (3) 40mA (4) 1.2 mA

An electric current i is flowing in a circular coil
of radius a. At what distance from the center of
the axis of the coil will the magnetic field be

th
(2—7j of its value at the centre ?

(1) V6a (2 2y2a (3) 2J/3a (4) 2J6a
The lines of force due to earth’s horizontal
magnetic field are :
(1) concentric circle
(3) elliptical

Which of the following statements about the
given reaction are correct?

(2) parallel and straight
(4) curved lines

3Fe(S)+4H,0(g) » Fe;0,(s) + 4H,(g)

A. Iron metal is getting oxidised

B. Water is getting reduced

C. Water is acting as reducing agent

D. Water is acting as oxidising agent

(1) A,B,and C (2) Cand D

(3) A,B,and D (4) Band D

Consider the reaction

CuSO4 + Fe » FeSO,4 + Cu

FeSO4 +Zn — ZnSO,4 + Fe

(1) Zn is most reactive, Fe is least reactive

(2) Fe is most reactive and Cu is least reactive
(3) Zn is most reactive and Cu is least reactive
(4) Cu is most reactive and Fe is least reactive

16.

17.

18.

19.

20.

21.

22.

2000 A % A TR HERFR, 300 a1 H TH T@l, 60 A
T T Tosl 3R 40 T T Th IR, 220 dee & STR
o TR Y ST feen s € 1 39 ferfa § sugm few S
o S T IR T R -

(1) 10A (2)32A (3)20A (4) 16A
T 80 T 1 e[ o, 7.2 5ot 9fd Gve & R H TR
% ®Y H ol Y R € | Sl 1 foha Wiav oie
TRTT Sl § B T © 2

(1) 45% (2) 6.4% (3) 12.8% (4) %
Ifg S g 2.5 x 1017 = Svsl st |
2 x 10710 =t =t fireen ot v ® ¥ € A 99 A faga
GIES Il T

(1) 20mA (2) 0.6 mA (3) 40mA (4) 1.2 mA
T fagd W i, a o aret g wueet § verfed & @i
? | HUSell & 1§ fopalt T R Y & TR B

a%mﬂ%}ﬁm?

(1) V6a (2) 2J2a (3) 2y3a (4 2V6a
Teoft & &ifds Rk & % HROT I 1@ Bl © -
(1) "&fsd g (2) TR 3TR wien

(3) <Tefearehre (4) =% TErd

& e srfufrar & forg frefefed & 9 o8 9 wer g €2
3Fe(S) +4H,0(g) > Fez0,(s) + 4H,(g)

e g afferdfishd el @l 2

STl 3Thd 8 @I

ST STIHNE H WE FE B @ R

S SR H /e FE L @ 2

(1) A, Ban C (2) Cda D

(3) A, BN D (4) Ba«n D

fr= srffsran W foam =

CuSO4 + Fe » FeSO,4 + Cu
FeSO4 +Zn — ZnSO,4 + Fe

(1) Zn rfaerafmarsiel €, Fe Freerfufpansia &

(2) Fe sifastfufemarsiial € qen Cu freerfufwarnta &
(3) Zn erfaertafewarsiiel € @en Cu Freerfufpansia &
(4) Cu sfasafmaeiel & qon Fe Fretefufsmaretier &

oowe?

Space For Rough Work

Class-X/03




23.

24.

25.

26.

27.

28.

29.

PbO, +4HCl —» PbCl, + 2H,0 + Cl,

The substance undergoing oxidation is —

(1) Lead dioxide (2) Hydrochloric acid
(3) Hydrogen (4) Lead chloride
Ammonium chloride is a salt of

(1) weak Acid and Weak Base

(2) weak Acid and Strong Base

(3) strong Acid and Strong Base

(4) strong Acid and Weak Base

Identify the type of product formed in the given
chemical equation.

Pb(OH), + HNO3; - Pb(OH) NO3 + H,O

(1) An acidic salt (2) A basic salt

(3) A base (4) An acid

Which of the following gives the correct
increasing order of acidic strength?

(1) Water < Acetic acid < Hydrochloric acid

(2) Water < Hydrochloric acid < Acetic acid

(3) Acetic acid< Water < Hydrochloric acid

(4) Hydrochloric acid < water < Acetic acid

Acetic acid was added to a solid X kept in a test
tube. A colourless and odourless gas was evolved.
The gas was passed through lime water which
turned milky. It was concluded that

(1) solid X is sodium hydroxide and the gas
evolved is CO,

(2) solid X is sodium bicarbonate and the gas
evolved is CO,

(3) solid X is sodium acetate and the gas evolved

(4) solid Xis sodium chloride and the gas evolved

Which of the following salts on dissolving in

water will give a solution with pH less than 7 at
298 K?

(1) KCN (2) CH3COONa

(3) NaBr (4) NH4CI

The correct order of lewis acid character is
(1) BF5 < BCl; < BBry < Bl

(2) BCl; > BF5 < BBry < Bl

(3) BBr3 < BI3 < BClz < BFg

(4) BF5 > BCl; > BBry > Bl,

23.

24.

25.

26.

27.

28.

29.

PbO, + 4HCl - PbCl, +2H,0 + Cl,
SATSRETRTOT W A o el ue € -
(1) Te 3fwES (2) BTEgIRAINE 3Tt
ESEE (4) T wivEe
SR FARES T 2~
(1) o1 TR TN goicl &R I
(2) 3T TR TN YA &R HI
(3) YIS 3TRA A oI &R H
(4) Yo 3TFA qeA go &R HI
3 TE TRt Afafsan ¥ 3 SR & YRR hi Te9H
-
Pb(OH), + HNO3 — Pb(OH) NO5 + H,0
(1) T T dao (2) TH G e
(3) TH &N (4) T T
frefafed o 9 i eedia il %1 a5 g3 w9 3@ 2?2
(1) Sia < THifedh T < TR 0
(2) S < TESEANE 3T < THifeswh T
(3) THifew o= < A < TRSANG 3TFA
(4) EEGERANES 3T < Sl < THifesh 3T=A
Teh W ° W T 39 X | THifesh 3t foeman =
Teh TR qe T T g g2l 9 1 A 5ot § yanfed
FH R T8 3 3feren o At 2 | sk 7w foern ® fo

(1) 3/ X Hifesm  FmEgiamss @ ae 3o 19 CO, B
(2) 39 X wifeom aEHEe € To 3= 19 CO, €|
(3) 39 X wHifeam THdz 8 9o 3= W CO,, €|

(4) 3 X Tifeam FivEe § 9en 3= 19 CO, B

=1 & @ %9 ¥ o@u &I, 298 K A9 W A ¥ oA
7 ¥ %9 pH HA arel faerm 2 € 2

(1) KCN (2) CH3COONa
(3) NaBr (4) NH,CI

oEH TR 1 YepTd 1 WE HH T 2
(1) BF3 < BCl; < BBr4 < Bl
(3) BBr3 < BI3 < BClj3 < BFg
(4) BF3 > BCl; > BBr5 > Bl
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30.

31.

32.

33.

34.

Reaction between X and Y, forms compound Z. X
loses electron and Y gains electron. Which of the
following properties is not shown by Z?

(1) Has high melting point

(2) Has low melting point

(3) Conducts electricity in molten state
(4) Occurs as solid

Aluminium is used in thermite welding
because-

(1) aluminium is a light metal

(2) aluminium has more affinity towards oxygen
(3) aluminium is a strong oxidising agent

(4) aluminium is a reactive metal

Which of the following statement is incorrect
(1) Roasting is done for sulphide ore.

(2) reaction takes place in aluminothermic
process is also known as thermite reaction.

(38) Unwanted material with ore is called as
gangue.

(4) In electrolytic refining, impure metal is used
as cathode.

Identify the wrong statement about graphite.

(1) Its relative density is about 2.3 g cm™3.

(2) It burns in air at 700 — 800°C to give CO,

(3) It occurs as octahedral crystals

(4) It is insoluble in all ordinary solvents

A few chemical processes are listed as :

I. An alcohol undergoes oxidation to produce a
carboxylic acid

II. An alcohol undergoes esterification.

III.A carboxylic acid reacts with sodium
carbonate.

IV. Propane undergoes complete combustion.

In which of the given processes, products have
more carbon atoms than the underlined
reactant?

(1) Iand IV only

(2) I and II only

(3) I, IIl and IV only
(4) Il only

30.

31.

32.

33.

34.

X qe Y & ot stfafewan @ wifies Z o1 Feio g @ 1 X

TR N YAl © A1 Y Sie Ul hidl € | Z % g,

frefafea & @ ®F @ o yefdiq & g € 2

(1) THT =4 T Bl &l

(2) TEH! T TR et B

(3) TE Tferd araen ¥ fagd w1 = 21

(4) 7€ 39 & &Y § T B

TegfafEm 1 S ewise afeeT | B @ wifw -

(1) Tegfafm TF et 91 2|

(2) Tefafem &1 siwdeH % foau sifus owa 2

(3) Tefafom T yaa sifaiieRE Tt 7

(4) TegfafEm T sfafmanta o 2

frefefed § @ ®F o wuE owe § -

(1) TChES 31T & Ty SROT el T 2|

(2) TegfHar aftie Ufshan & &9 et stfafshan &l 3w
Afaferan & &9 & o S S 2

(3) orEh & WY Iralizd ugiel i W (3IFER) wed B
(4) FE ST T H ST H1g A STAT bl F ®Y
o fepan S 2

THES & IR H 3T HYF -

(1) Eeh! SUferer S @ 2.3 gem™S @1

(2) 78 9 ¥ 700-800°C R Wi R CO, I 2l
(3) IT=HEHT W H T | el B

(4) TT& |t wremeT faeree 9 sifaed 2

wB THAS qeHad 7 TR geias ¢ -

[. HEio(clh 377 9 & AU Toehigic 1 SRR
e < ©

I1. UeTshielel ol TR fopan sim &
[11. Swraifraferes v, Sifeam ware 9 Afafmar w2
IV. 999 &1 quf <&+ foran S @

3 T2 wishansti o fohd Scag ¥ Y@ifa s1fiyeres it sTden
e e WA §

(1) aa I e IV

(2) saa e 11

(3) =ad 1, III a2 IV
(4) Haa 11
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35. Mark the wrong statement among the following. 35. fr=fafed § 9 19 wem &t fafga ¢ |
(1) People sleeping in closed room with coal fire e " :
burning inside have died due to CO, (1) el & W H WA W M CO, H
poisoning. TR < 0T T S €
(2) Flame is only produced when gaseous (2) STl At I el © e TEE gered S 2
substances burn. .
3) FooilA FEH % TTET T T
(3) Fullerenes are allotropes of carbon. ©) .
(4) Intake of methyl alcohol can cause death. (4) faeeer estelar & Srmie & T & Hehd gl
36. Valency of carbon in CH,, CoHg, CoHy and CoH, 36. CHy, CoHg, CoHy, T8 CoH, H h1siH oY HaTsishel shHs:
is , , and respectively i s 2
(1) 1,2,3,4 (1) 1,2,3,4
() 4,3,2,1 2 4,3,2,1
82,3, 1,4 8)2,3,1,4
(4) 4 1,3,2 “4) 4,1,3,2
37. An organic compound X with molecular formula C
C,H40, turns blue litmus red and gives brisk 37 Afos YA CoH,O0, Tl TH il e X, et
effervescence with sodium bicarbonate. Identify fotem® & ot 2 a1 § aen |ifeam EIECIE IR RS ICA
the compound. TREETEE <A1 € | AT HT GETH H |
(1) Methanoic acid (2) Ethanoic acid
1) HeFR® oA 2) TARE TR
(3) propanoic acid (4) Butanoic acid (1) )T
38. Which of the following statements does not apply (3) TR ST (4) TEAEH o
to the elements belonging to the same period of 38. oTed ARl % 9UM ofed O d@ & o fetared §
the periodic table? N N T 7 A ¥,
(1) The number of valence electrons increases . v e . . - .
on moving from left to right (1) =5 | < T W HEASF seR F Hen agd €l
(2) The atomic size increase from left to right. (2) ST & & IH W RATY] T HR T 2
(3) The atomic size decreases from left to right. (3) ST @ T TN W T B AR T 3
(4) The metallic character of elements e n _en .
decreases from left to right. (4) 515 ¥ T A R T Bl o1 e 2
39. List-I List-II 39. gl AT II
(P) Metallic character I. Decreases (P) &t # wnfearss ToT I wea s
in a grou .. .
sroup . o (Q) 3o ® HarsTehar II. Tec dedl € o 9% o
(Q) Valency in a period II. First increases then 3
decreases =
(R) Valence electrons III. Remain same (R) o & Farsthar seiagi I11. eTafafda & ©
in a group (S) e ® wET] A IV. Sigal ©
(S) Atomic size in a  IV.Increases
period )
Choose the correct option : wel fashed 1 wea -
Code: P Q R S
P Q R s (1) IV 11 111 I
(1) Iv II I1I I 21 II I1I v
21 II II Y (3) IV 111 II I
(3) IV 11 II I (4) 11 I 111 v
(4) 11 I 111 v
Space For Rough Work Class-X/06




40. Electropic configurations of elements P, Q, Rand 40. ddi P, Q, RAul S & geieeie fomamm = e ™ T
S are given below : P:2.8 1: 0:2.5
P81 Q:2,5 R:2,8,7 S:2,8,5
R:2,8,7; S:2,8,5 T . N
Which of the following statements are correct? w3 # T T E - .
[. Elements Q and S belong to the same period I o QTN S 3erd TRl % T Ao H &
of the periodic table. II. PU% &9 oig ©
II. Pis an alkali metal. I1I.R U ®rq &
lIL.R is a metal. IV. T S T Faerhel 3 7 |
IV. Valency of element S is 3. (1) #1711 (2) B 11 7= 1V
(1) I and IT only (2) Il and IV only .
a1 e 111 4 9 gt
(3) I and III only (4) All of these ) ) (4) 7
41. The Galapagos Islands are associated with the 4l TR A SEECTS, T S F I T -
visit of (1) ST (2) =ifdq
(1) Lamarck (2) Darwin (3) Hea (4) fe-3fw
(3)hM;ndel 1 (4) De ‘l’nes 42, T W HH Wegldh-hAH § -
42. Which one is natural anti-coagulant? .
1) g9 2) wifezm sifaRiere
(1) Heparin (2) Sodium oxalate 1) . @ '
(3) Potassium oxalate (4) All of the above 3) : (4) SR el
43. Glycolysis occurs in prokaryotic cell in 43.  TeTEhIfeTad, Wehaied HiferF § 2t ¢
(1) Cytoplasm (2) Nucleoplasm (1) Sfresea o (2) frrareTH
(3) Mitochondria (4) Nucleus (3) AT (4) =fTeR
44. Which one is not present in neuron? 44. TH 9 % dbee § Sufted @ B @72
(1) Cell body (2) Mitochondria (1) hif¥TehTeRT (2) TRt
(3) Centriole (4) Nucleus (3) B=F (4) TR
45. (i) Plant growth is directionless 45. () i § gfg feEE 3
(ii) The roots of plant grow downwards, so it is .. . il F & zgfm
called positive geotrophic movements. (i) el = G‘g:‘ o :ﬁjﬁﬁ R Qfﬁr%l € i
(iii) Adrenaline is secreted through duct into ) T
blood. (ili) fgAfem, =@ & s @ aifeq B 2
(iv) The nervous system used electrical impulses (iv) e @9, Gew e % foru ferem deom w1 swan
to transmit messages. F 2l
Cth?ose tgle correct option regarding given fRu T et & forw wet fashew 9+ -
statemen . .
(1) (i) @en (i) =&t 2|
0 (i "
(2) W andd(lT) are Corr“tt o . (2) (if) 7T (iv) W& 2, (i) oW 2
(2) (i1) an. (iv) ar'e correct , (i) is incorrec E (i) 7= (iv) T 3
(3) Only (i) and (iv) are correct PO
(4) All are correct ()% |
, . 46. EHTTET IS I E-
46. Leishmania reproduced by ) )
(1) Budding (2) Binary fusion (1) 1% 31 (2) 3 s
(3) Binary fission (4) All of the above (3) T fawrer g/ (4) SR T+
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47. EquationI- 47. g I -
6CO, +12H,0 — 20— CH,,0 + 60, + 6H,0 6CO, +12H,0—=™ , C H,,0, + 60, + 6H,0
Equation II - gt 11 —
CeH 12061 605 —— 6CO, +6H,0 + energy CgH150g+ 60, — 5 6CO, + 6HyO + Sl
Choose the correct option for above equation I gl & foa @@ fawed 9 -
(1) Equation I show photosynthesis and catabolic (1) G 1, FHRTETEIT iR a7 rfafEar ) <o
reaction N )
(2) Equation II show photosynthesis and anabolic .
reaction (2) THIHTT 11, THTIETAT SR o= Afafshan i @i
(3) Equation II show respiration and catabolic @l
reaction (3) HEfIeRRT 11, Yo R sTo=r@ sifafshan 1 qwifar 2
(4) Equation I show respiration and catabolic (4) TR 1, Yo 3R o= erfafwan i < 21
reaction ’
48. o fawed &l T -
48. Choose the incorrect option ¢ Ky
(1) Several factors like infections, injury or (1) Rl ’ oI N TRt A,
restricted blood flow to kidneys reduce the T T G R T L
activity of kidney (2) TATH ITF T TR, ATP & FHT 1 IR
(2) Translocation in phloem tissue occurs using 2 7
energy from ATP R
@ h | i < about 80 (3) Gmr fashe <@ o 88 mm Hg & @ 3iR
e normal systolic pressure is about 80 mm srffore ST 1 Ho =i |
of Hg and diastolic pressure is 120 mm of R 20 mm He 1 <1 €
Hg. (4) T4 1 e SR S B, WIshR Hifvrehiet 1w €
(4) The opening and closing of the pore is a 49, W 9 S 9T ARASk @ 9 T8 e
function of guard cells )
. . . . (1) W (2) Frezgem
49. Which one is not a part of hind brain?
(1) Pons (2) Medulla () 13 )
(3) Cerebellum (4) Cerebrum 50. = . A ST = e I 1 FTH E
. L St feif i 8-
50. Voluntary actions and maintaining the posture
and balance of the body are controlled by (1) ymfers= gr (2) sTATET=H B
(1) Cerebrum (2) Cerebellum (3) TEHLHE g (4) Hea-ufeTsh 5]
(3) Hypothalamus (4) Mid - brain 51. HIR-T ST <l 2-
51. Copper-T are placed in — (1) =1 o (2) Tt e o
(1) Vagina (2) Cervix (3) Trefferr (4) fereamt i o
(3) Uterus (4) Fallopian tube 52. TS SiaTen ¥ -
52. Trilobite is a fossils of (1) e (2) 981 % & =
1) Fish T k - -
(1) Fis (2) Tree trun @) - @ -
(3) Invertebrate (4) Vertebrates
Space For Rough Work Class-X/08




53.

54.

55.

56.

57.

58.

59.

60.

61.

The product of fermentation is

(1) Formic acid (2) Ethanol

(3) Methanol (4) Citric acid
YYRR x yyrr, its F; generation is

(1) Yy Rr (2) YYrr

(3) Both (1) and (2) (4) yyRR

SO, is -

(1) Air pollutant

(2) Noise pollutant

(3) Water pollutant

(4) Ozone hole depleter
Vermiform appendix is a part of
(1) Respiratory sytem (2) Digestive system
(3) Exeretory system (4) All of the above
Father of genetics is—

(1) Hooke (2) Mendel

(3) Brown (4) Virchow

Lactic acid is produced during-

(1) Aerobic respiration

(2) Anaerobic respiration

(3) Both (1) & (2)

(4) None of the above

Auxin is -

(1) Plant hormone

(2) Animal hormones

(3) Both (1) and (2)

(4) Enzyme

Allosomes are

(1) Autosomes

(2) Sex chromosome

(3) Rounded bodies

(4) Bead like structure on chromosome

Ifin an isoscales triangle ‘a’ is the length of the
base and b’ the length of one of the equal side,
then its area is :

(1) %\/4b2 ~a? 2) %/4b2 ~a?

a-b
4

a+b
4

a? - b? b2 - a2

(3)

53.

54.

55.

56.

57.

58.

59.

60.

61.

_ f¥Uaw % IEE B

(1) wifde 31 (2) 3ot

(3) faerta (4) fafee s
YYRR x yyrr, S9! F, 9& § -

(1) YyRr (2) YYrr

(3) (1) 7 (2) <A (4) yyRR
SO, & -

(1) a1 F5H (2) = g
(3) ST UgHH (4) =TS fog &
3 fewm € -

(1) voET & 1 (2) areA q A
(3) SHSH qF A (4) ST |
ST ® for ¥ -

(1) &% (2) #ea

(3) sm=A (4) TS
ifeRsh 3T Sea= Bl ® -

(1) el Taed & 95

(2) STEHEE YaEA & A

(3) (1) @ (2) <At

(4) ST S T

A T -

(1) w_d BHA

(2) S @A

(3) (1) Tem (2) <

(4) T~I=H

fem o § -

(1) i

(2) faT-smSm

(3) el &

(4) IR W T HT W A

Ffs forelt Tufgare sl ¥ ‘@’ STUR 1 TE qe0 b’ JaR
qenetl ® 9§ U o HI owErg 8, al 31 kel § -

(1) %\/4b2 ~a? 2) %/4b2 ~a?
(3) a;b Iag_bg (4) a-b

4

b2 — a2

Space For Rough Work
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62.

63.

64.

If any two sides of a triangle are produced beyond
its base and the exterior angles thus obtained
are bisected, then these bisectors will include

an angle equal to :

(1) Half the sum of the base angles.

(2) Sum of the base angles.

(3) Half the difference of the base angles.
)

(4) Difference of the base angles.

9 3n
Calculate sin o if cos a = 11 and 0 €| T, ?

) 200 5 210 5n 243

11 11 11 2

The given table list’s the number of absentees
on different days in last 48 working days.

Number of absentees 2 4 6 8 10

Number of days 11] 8 9 7 | 13

65.

66.

What is the mean deviation about medium of
the given data ?

(1) 2.625 (2) 2.310 (3) 1.875 (4) 1.570

If o and B are the zeros of the quadratic
polynomial f(x) = ax? + bx + c, then evaluate

2 2
25+E5
BT o’
( b2 + 4ab?c + 2a2c? ) b* - 4abZc + 2a2c2
a2c? a2c?
b 2ac
(3) 22 (4) none of these

1 12 1

Solve forxand y : + =— and
22x+3y) 7(8x-2y) 2
7 4
+ =2, where (2x + 3y) # 0 and
(2x +3y) (Bx-2y)
(3x—-2y)=0.
(1) x=1,y=2 (@ x=2,y=1
B)x=0,y=3 4)x=2,y=2

62.

63.

64.

I et 19 it 7 oI STMER 1 7R 9197 ST 37N 39
YR o1 SEShIvT bl THIGHIIS fman S af 39 3Tgahi &
o= T I S B -

(1) 3ER & IV & FRTHS o T
(2) STUR & IV & ATHA
(3) YR & IV & <R &% e H
(4) STER & IV & AR I

. 9 37
sina?ﬁmﬁaﬁ'cosaz—ﬁ qen ae[n,?j

2410 2410
W= @ () 11 2
T unen o oifaw 48w feam # faw= fA o

arquteafaal 1 dem get o € |

sTuRerfaal & Hen 2| 46| 8] 10

i =t we 11|l 89| 7|13

65.

66.

feu ™ fwe & HieAw % uRd AEd fa=er #= © 2
(1) 2.625 (2) 2.310
TP o e B Tgema sHsieh f(x)

2 g2
5 H AE I R |

(3) 1.875  (4) 1.570

=ax2+bx+c,¢wﬁ,

b2 + 4ab?c + 2a2c? b* - 4abZc + 2a2c2
(1) 20 2) 22
a“c a“c

4) T8 9 g T

1
X My & faw sa = L 12 1
" Dox+3y)  T(3x-2y) 2

7 4
A1 +
(2x +3y) (Bx-2y)
(Bx—-2y)=0.
(x=1,y=2
3)x=0,y=3

=2, W& (2x + 3y) # O T

(@) x=2,y=1
(4) x=2,y=2
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07.

68.

69.

70.

71.

72.

In fig. ABC is a right triangle, right angled at B.
Medians AD and CE are of respective length
5 cm and 2,/5 cm. Find the length of AC.

A

B D C

(I)4cm. (2)5cm. (3)6cm. (4) 7 cm.
From a well shuffled pack of 52 cards, black aces
and black queen’s are removed from the
remaining cards a card is drawn at random. Find
the probability of drawing a king or a queen.

1

3 6
(7sin6 - 3 cos )
If 7tan =4, then (74jn 01 3c0s0)
1 = @7 @2 @
7 7 7 14

The angles of elevation of the top of a tower from
two points P and Q at distance of a and b
respectively from the base and in the same
straight line with it are complementary. Find
the height of the towers.

a

MWy @ Jab

Find the sum of the first 24 terms of the
sequence whose nth terms is given by :

(3) ab (4) none

2
a, =3+ En
(1) 422 (2) 384 (3) 272 (4) None
In the given figure, TBP and TCQ are tangents
to the circle whose centre is O. Also, ZPBA = 60°
and ZACQ = 70°. Determine ZBTC.

(1) 80°  (2) 50°

(3) 130°

(4) 30°

67.

69.

70.

71.

72.

o ¥ ABC U Guehivl 191 €, B W GHhI0 § | Hifeahmei

AD T CE &1 @aeal %ae: 5.8, aon 24/5 . 8
AC i o= Jd &1 |
A

B D C
(1) 4¥#. (2) 59+ (3) 6d™M. (4) 7EH.
T TE Hel TS 52 Ufadl i TSI U HieT SoR1 a1 il
T i Ao T W 5 faw T € | T TS A T

% Frepret S FT ifashar T e |
3 1 6 ‘
(1) 5 (@) 3 B 7 () =%
(7sin6-3cosO) _.,
Ig 7tand =4, & (7sin0+3cos0)
1 5 3 >
1) - AT

el MR & ¥R § W& @1 H a 9 b 3Rl W feem
fogatl ®ae: Pden Q 9 HHAR & R & 3= @i
WER T € | WER H = 6w |

a

@ y5 (2) Jab (4) =g 7
3T STIHEA F UM 24 TR H AN [0 HB (STGHT nal U]

(3) ab

2
an=3+§n feam T 2

(1) 422  (2) 384  (3) 272 (4) =E &
f&& @ fo7 ¥, TBP a1 TCQ, O %= o1 g ! agf
@ € | 99 &, /PBA = 60° a2 Z/ACQ = 70°. Z/BTC
fruifa -

(1) 80°  (2) 50° (4) 30°

Space For Rough Work
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73.

74.

75.

76.

An open metal bucket is in the shape of a
frustum of a cone, mounted on a hollow
cyclindrical base made of the same metallic
sheet, as shown in fig. The diameter’s of the two
circular ends of the bucket are 45 cm and 25
cm, the total vertical height of the bucket is 40
cm and that of the cylindrical base is 6 cm. Find
the area of the metallic sheet used to make the
bucket.

(1) 33615.48 cm?
(2) 4204 cm?

(3) 3568.90 cm?
(4) 4860.90 cm?

In the given figure, ZABC = 90°, Z/BAC = 6,
ZADC = ¢, BC = 5 units, AC = 13 units and
AD = 14 units. Also ZBAD =90°, find the value of
cosec ¢.

S——

D
¢
C
XS
@0{\& S units
0
A B
12 2i 35 4i
W @5 O @ 3

If the zeros of the polynomial x3 - 3x% + x + 1 are
a—-b,a,a+Db.findaandb.

(1) a=1,b=++2 2 a=1,b=1

a= \/5, b=1 (4) None of these
In a trapezium ABCD, AB| |DC and DC = 2AB.
FE drawn parallel to AB cuts AD at F and BC at E;

3

b hat BE_3
suc tatEC 4

Diagonal DB intersects EF at 8, then which of
the following are true ?

(1) I0OEF=7AB (2) 7EF=10AB

(3) EF=AB (4) None

73.

74.

75.

76.

#Tq <l Teh el Ied! Vish fo=1eh & &4 § & S Feogen
IH! U F 1 TG SRR SUR T feorq 2 | st
& < g T % oA 45 9. . qen 25 § . §, wedt
I B I TAE 40 T W, T AHHR SMER HT S
69 . ? | I B SH H o g W T ek
d A

(1) 33615.48 ©. it
(2) 4204 H. .2

(3) 3568.90 ¥. 2

(4) 4860.90 ¥. 2

few mu fe= #, ZABC = 90°, /BAC = 0, ZADC = ¢,
BC = 5 3%, AC = 13 3 q2MAD = 14 %S | @19 &
ZBAD = 90°, cosec ¢l AF 1T & |

S——

D
¢
C
’ \3?{&@ 5 Tt
A B
12 4 5 4
1) 13 @) 3 B 7 4 3

TERx3-3x2+x+ 1H YIF a-b,a,a+beladd
b @ X |

(1) a=1,b=++2 2 a=1,b=1
3) a=+2,b=1 (4) 3 | w15 T

gae ABCD ¥ AB| | DC @1 DC = 2AB. AB & §HFRR
FE @i 7 & St AD %1 F W q¢1 BC ! E W 30 TR

BE 3
Tﬁl?cﬁ%fm" E_Z

A B

S\,
/R

fawi DB, EFaﬁGmuﬁ@am% q Frefafed 5 9

aﬁqw% ?
(1) 1I0EF=7AB (2) 7EF =10 AB
(3) EF = AB 4) =g &l

Space For Rough Work

Class-X/012




77.

78.

79.

80.

81.

The vertices of a triangle are (2, a), (1, b) and
(c2,-3). Find the condition that the centroid may
lie on the x-axis.

() a+b=3 (2) 3+c%2=3
B8)a+b=0 (4) None

Match the Column-I with Column-II. If o and B
are the zeroes of the quadratic polynomial
f(x) = x2 - 3x — 2 then,

Column -1 Column - II

() o2 +ap? = @ P
1

(i) =B+ 55~ (b) 6

N S

(iii) E+B_ (c) 161

(iv)at + p = @5

(1) (i-c), (ii-b), (iii-d), (iv-a)

(2) (i-d), (ii-b), (iii-c), (iv-a)

(3) (i-b), (ii-d), (iii-c), (iv-a)

(4) (i-b), (ii-a), (iii-d), (iv-c)

The two circles intersect at C and D, where O is
the centre of second circle. AD produced and cuts
the second circle at F. BD produced and cuts the
second circle at E. Z«ZDEF = 110°,
Z/ACB = 32° and ZDAB = 118°, find ZACE and
ZCOD.

(1) 96°,68° (2) 72°,59° (3) 59°,72° (4) 68°,96°
A man walks a distance of 48 km in a given time.
If he walks 2 km an hour faster, he will perform
the journey 4 hours before. Find his normal rate
of walking?

(1) 4 km/h (2) 6 km/h (3) 3 km/h (4) 8 km/h
In a row of girls, Purnima is eighth from the right
and Bhavana is twelfth from the left. When
Purnima and Bhavana interchange their
positions, Bhavana becomes twenty-first from
the left. Which of the following will be Purnima’s
new position from the right?

(1) 8th (2) 17th

(3) 21st (4) Data inadequate

77.

78.

79.

80.

81.

fordt fqe & wid (2, a), (1, b) 721 (c2, -
Td = T fh 5 x-319 W @ 7t |
()a+b=3 2) 3+c2=3
3)a+b=0 (4) = T
W [ W 119 e X | Afg o qen p fgemda sgus
f(x) = x% - 3x — 2 & YH &, A -

3) ¥ | o' T

- I - 11
() o2p +op? = @ P
1
(ii) « =B+ 2(1[3 (b) -6
N S
(iii) o B_ (c) 161
(iv)o* + p* = @ §

i-c), (ii-b), (iii-d), (iv-a
i-d), (ii-b), (iii-c), (iv-a
i-b), (ii-d), (iii-c), (iv-a
(4) (i-b), (ii-a), (iii-d), (iv-

T g9 C a1 D W gfess H &, Sl O Tdia 91 o1 &=
2 | AD %1 g T 7 W I 1 F W el 8 | BD &
TgH T I8 TR 99 I E W & € | ZDEF = 110°,
ZACB=32°da1 ZDAB =118°, ZACE a1 ZCOD A
F |

(1) 96°,68° (2) 72°,59° (3) 59°,72° (4) 68°,96°
T A 48 TR w30 T @ T T § <eam 71 ARk
9% 2 TRl ufaeier O <gord € O 9% 39 AR R 4 H
TeS QU HX M | ITh B i GH A T AL |
(1) 4 fomsiar (2) 6 fm/saT

(3) 3 fem.si/siar (4) 8 fem.s/siar

T % A A, ot A @ sred s W at
IRES T R 1 5 Y01 IR AT 3Tq T BT TR
Il Tl © Al AT ST W gk iEe € W gl St
o @ Frefefem & # gt w Rty 22

(1) 8af (2) 17t

(3) 21 df (4) @i ervata 2
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82.

83.

84.

85.

86.

If ‘A’ stands for ‘addition’, ‘S’ stands for
‘subtraction’, ‘D’ stands for ‘division’, ‘M’ stands
for ‘multiplication’, ‘G’ stands for ‘greater than’,
‘E’ stands for ‘equal to’ and L’ stands for ‘less
than’, which one of the following is correct?

(1) 8G2M3M4D2M4
2) 12E4A2D1M4M?2
3)2L2M4A1M4S8
4) IOE2A2M4A1S2

Find the missing number, if same rule is
followed in all the three figures.

5 /\6 V\7 N
15 ? 8
4 12 8
(1) 5 (2) 12 3) 7 (4) 14

Select a figure from the options in which Fig. (X)
is embedded as one of its parts.

U)GZD(%C@%Q(@‘E=’W

Trishu starts from point P and walks towards
West and stops at point Q. She now takes a right
turn and then a left turn and stops at point R.
She finally takes a left turn and stops at point S.
If she walks 5 km before taking each turn,
towards which direction will Trishu have to walk
from point S to reach point Q.

(1) North (2) South

(3) West (4) East

Which of the following options satisfy the same
conditions of placement of dots as in Fig. (X).

Q) A
/] 7\ N
(1) | (2)| |(3) — (4) N

82.

83.

84.

85.

86.

Iz A, ‘I’ i gad w4 €, S, CTeE’ v gied S
g, D, s’ I giad A, M, o’ w G F R,
‘G, ‘T & gfad w2, B, IR 7' R gied w
2 a9 L, B @ gied e € d Frefafed 9 s
& 22

(1) 8G2M3M4D2M 4

2) 12E4A2D1M4M?2
B)2L2M4A1M4S8

(4) IOE2A2M4A1S2

A & I B A gt 1 oA | e e ang
T

4 12 8
(1) 5 (2) 12 (3) 7 (4) 14

famen @ 39 fo &t 94 foad fog X 3o s fem &
w9 § gmifEd 2

/N o)
o || @ @ || @

g forg P 9 WK &itelt @ ofR afvem o iR werdt & qen
Q forg W & St ¥l o1 o ¢ gedt & 7 fofe ad gt
2 ok fg R W & ot 81 ofd & 98 a1¢ gedt € qo
fig S W & Wt Bl 3% o€ Y& R ge ¥ T8l 5 km
werdt © il o T st ok gy 1 S fag @ = w2
qifer e Q farg W W Sy

(1) 3| (2) =f&ror
(3) wfe=m (4) T
frefefea foehedl o i, fo & faQ T oreR foamget &
T & wuE fefd i dqe s 2
Sl
= (X)
/) N
7 7\ A

(1) (2)| |(3) = (4) /
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87.

88.

89.

90.

91.

92.

If lead’is called ‘stick’, ‘stick’is called ‘nib’, ‘nib’
is called ‘needle’ needle’is called rope’ and ‘rope’
is called ‘thread’, what will be fitted in a pen to
write with it?

(1) stick (2) lead

(3) needle (4) nib

Count the number of cubes in the given figure.

(1) 14
(2) 16
(3) 18
(4) 22

In the given diagram, rectangle represents men,
triangle represents educated, circle represents
urban and square represents government

employees.
N

12 |6 )13

9 14
11

/5 N\

Which of the following represents a man who is
urban as well as government employee but not
educated?

(1) 7 (2) 13 (3) 10 4) 6

In a row of girls, Geetanjali is 20" from the right
end and Sapna is 10t from the left end. When
they interchange their positions Geetanjali
becomes 25 from the right end. What is total
number of girls in the row ?

(1) 35 (2) 44 (3) 34 (4) 24
Pointing towards a person in the photograph,
Anita said, “He is the only son of the father of
my sister’s brother.” How is the person related
to Anita?

(1) Mother (2) Father (3) Brother (4) Uncle
Two positions of a cube are shown below. When
the number 4 will be at the bottom, then which
number will be at the top?

@) (i)
(1) 3 (2) 4 (3) 5 (4) 6

87.

88.

89.

90.

91.

92.

Ifg ‘e’ 1 ‘B’ w5 B, B e s
2, '’ g e S €, g Tl hel ST € e
‘TEt! B um el S ©, ‘e’ @ foe ik wed

ey G 7 fored feren s we?

(1) Bt (2) dram (3) & (4) =
feu wu fo o w4 =1 "ew i )

(1) 14

(2) 16

(3) 18

(4) 22

XU 7T e ®, e1rHd, gEu i giud s ¥, Fage, ot
=l gfad %W €, 99, Il # gaa @ € e o, gt
FHHER 1 gread e

/N

12 |6 )13

9 14
11

/5 \
frefafad & w38 & %1 gfud s € S el ik
Y & R wHE § T ffea e 22
(1) 7 2) 13 (3) 10 4) 6
Aefehal & Han o, Tiaisien sifad g 9 20 & TWH W
A O e o1 W 10 o TIF W 21 e 9§ ST €AH i
HEA-a=elt I B ot st Sfad ¢ § 25§ T W
B S 81 haR | wgfndl #i Hel g 72
(1) 35 (2) 44 (3) 34 (4) 24
T FIWUTE H T Afe & IR @ gu eifan 3 &,
“oE T o & WIS % Tl 1 Sehelian w2l B SAfeR, A
¥ Y Fafeq 872

(1) @F (2) foar (3) g (4) ==
et =@ 1 9 feufaat 9= gufh € €1 aft gemn 4 s mEn
B @ v W) w wen g

(i) (ii)
(1) 3 (2) 4 3) 5 (4) 6
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93.

94.

95.

96.

97.

98.

99.

100.

Which is the most suitable Venn diagram among
the following, which represents interrelationship
among Antisocial elements, Pick Pockets and Black
mailers ?

(1) @ @ (§0) (3)(4)@

From his house, Aalam went 15 kms to the North.
Then he turned West and covered 10 kms. Then,
he turned South and covered 5 kms. Finally
turning to East, he covered 10 kms. In which
direction is he from his house?

(1) East (2) West  (3) North  (4) South
Find out the wrong term.

123, 14,246, 56, 369, 125

(1) 123 (2) 14 (3) 246 (4) 125

Study the letter series carefully and see, which
letters are missing in the series given from
question. Select the correct group of letters from
given alternative which complete the series.
bc-b-c-b-cch

(1) bbcb (2) cbbc (3) cbcb (4) becbe

A sheet of paper as shown in the figure is folded
so as to form a cube. Identify the faces and select
the correct answer from the four alternatives.

+
X)| =

0|0

o}

Side opposite to 4~ symbol is

1) aX o) @)

A, B, C, D, E and F are sitting around a round
table. A is between E and F, E is opposite to D
and C is not in either of the neighbouring seats
of E. Who is opposite to B?

(1) C (2) D (3) F (4) A

How many times in a day, the two hands of a
clock coincide?

(1) 11 (2) 12 (3) 22 (4) 24
If C =3, CAN = 18, then 'MEN' is equal to
(1) 32 (2) 34 (3) 36 (4) 38

93.

94.

95.

96.

97.

98.

99.

100.

frefafed § 9 ®F W a9-emE Fag sAfus 3faa & S
STHEITSS d, Jd Al 3R sclhbier & dre a9 F
Tl 2

(1) @ @ (00) (3)(4)@

3ffer 379+ SR Y 15km ST &1 AR ST 21 R o afem
1 3R gl § 3R 10km 1 T 78 T 21 6 o e
1 3 gedl € iR Skm &1 g0 79 HLd 21 2fd § 98 T
1 S g1 7 3R 10km &1 T 7 Il 31 98 30 R
Y fore fewm =1 iR 77

(1) 3 2) af=m (3) W (4) <feqor
T 9% A

123, 14,246, 56, 369, 125

(1) 123 2) 14 (3) 246 (4) 125

HeR 1 e 1 S ¥ e SR 2w, feu My v
1 el | wiF G AR gw 21 KU T fawey 9 39 sten
g S e F B

bc-b-c-b-ccb

(1) bbcb (2) cbbc (3) cbcb (4) becbe

o o <WIiT T SIER S % T I i 36 YR Higl
T € foh 9 S o WU GHM % Hag i 9EEH i AR
IR foshed 9 Wl W

+
X)| =

0|0

o)
+ o & faudd e &

1) aX o) @y

A, B, C, D, Ed F, & gu&hR aal & =R 3 o3 2
A, Edu F& &9 €, E, D % fawliq € 921 C, E & vert
e W & 21 B & fawia &4 € 2
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GﬂAl. Corporate Branches

(Bihar & Jharkhand)
Coaching Institute
India Today Survey - 2019

Based on the India Today Best Coaching Insfite survey - 2019.

Avail the best quality education system uniformly across the corporate branches of GOAL.

PATNA

BUDHA COLONY

Goal Building, B/58,

Budha Colony, Patna - 1

Help Line : 9334594165/66/67
Classroom & Test Centre

PATNA

KANKARBAGH

Tilak Nagar Road,

Opposite Rajendra Nagar Terminal,

Help Line : 9608360780
Classroom & Test Centre

PATNA

ACHIEVERS CAMPUS

Vivek Vihar Colony, Gola Road
Help Line : 7564902121
Classroom & Test Centre

PATNA

GOLA ROAD

Near St. Karen’s High School
Help Line: 7564902125
Classroom & Test Centre

SHEKHER SUPER MARKET
=

PATNA

NAYA TOLA

3rd Floor, Shivam Complex,
Opp. of Gopal Market, Patna

PATNA

GOAL EDUCATION VILLAGE
Painal, Patna

Classroom & Test Centre
with residential facility.

PATNA (Corporate Office)
B-58, GOAL Building,

Near Sahaj Nursing Home, Munna Chowk

Help Line : 9608351980 (Test Centre)

IT-JEE*

RANCHI

LALPUR

504, 5th Floor, R.S. Tower,
Above VLCC, Near PANTALOONS,
Lalpur, Circular Road, Ranchi
Help Line : 7564900041/ 42/ 43
Classroom & Test Centre

RANCHI

HINOO

4th Floor, Mahavir Complex,
Opp. Indira Palace, Main Road
Hinoo, Ranchi

Help Line : 7564900041/ 42/ 43
Classroom & Test Centre

DHANBAD

OFFICE

Housing Colony, Bartand,

Dhanbad, Jharkhand

Help Line : 9334098595, 9308057050

DHANBAD

CLASSROOM

GOAL Empire, Memko More,
Dhaiya

Help Line

9334098595, 9308057050

BHILAI

® Shop No. 166, New Civic Centre
" 139, Zonal Market, Sector 10
Help Line

07884013502, 09826943595

RAIPUR

Beside Vidya Hospital,
Shankar Nagar

Help Line

07714060711, 07415884100

DELHI

Shop No. 2, B-4,

Upper Ground Floor,
Kalkaji, New Delhi-110019,
Help Line: 7564900045

RANCHI (CLASSROOM & HEAD OFFICE)
504, 5th Floor, R.S. Tower, Above V.L.C.C.,

BUDHA COLONY,
Patna - 800001

Help Line: 9334594165/66/67

LY

LIBRARY

GOA

Educational Services Pvt. Ltd.

MEDICAL

Nation's Leading Institute

Opp. K.C. Roy Memorial Hospital,
Lalpur, Circular Road,

Help Line: 7564900041/42/43
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